
MARKING SCHEME 
ECONOMICS (576) 

 
Class 12th      SAMPLE PAPER  SET: C   M.M:80 

 
Q.NO. EXPECTED ANSWER/VALUE POINTS MARKS 

1 d) गरीबी और बेरोजगारी की समस्या  (d) Problem of poverty and unemployment 1 

2 c) कीमत में पररर्वतन के बबना माांग में पररर्वतन (c) change in demand without change in price 1 

3 b)  AR घट रहा हो (b)when AR  decreasing 1 

4 a)शुन्य (a)zero 1 

5 (b) पुर्व बेलोचदार पूबतव (b)perfectly Inelastic supply 1 

6 व्यबि अर्वशास्त्र Micro Economics 1 

7 (-) P/Q × ∆Q/∆P (-) P/Q × ∆Q/∆P 1 

8 तकनीबक Technical 1 

9 a) अबिकर्न(A) और कारर् (R) दोनो सही है और 

कारर् (R) अबिकर्न (A) की सही व्याख्या है। 

a) Both Assertion (A) and Reason (R) are correct 
 and Reason (R) is the correct explanation of Assertion (A) 

1 

10 अबिकर्न(A) सही है लेबकन कारर् (R) गलत है। Assertion (A) is true but Reason (R) is false. 1 

11  

सीमाांत लागत सीमाांत आय के बराबर होनी चाबहए  

सीमाांत लागत र्क्र सीमाांत आय को नीचे से काटती है। 

 

अर्र्ा 

 

पुबतव की लोच (Es) = P/Q × ∆Q/P∆ 

P=4, P1 =5;  P∆ = 5–4 = 1 

Q = 8, Q1 = 10;  ∆Q = 10 – 8 = 2 

 

ES = 4/8 × 2/1 = 1 (इकाई) 

 

 

 

 
MC=MR 
MC curves cuts MR curve from below 
 

or 

 

 Elasticity of supply (Es) = P/Q × ∆Q/P∆ 

P=4, P1 =5;  P∆ = 5–4 = 1 

Q = 8, Q1 = 10;  ∆Q = 10 – 8 = 2 

 

ES = 4/8 × 2/1 = 1 (Unitary) 

 

1.5 
1.5 
 
 
 
3 

12 उपिोक्ता बजट से अबिप्राय उपिोक्ता की बनर्ावररत आय से 

 है। बजसे इसे बजट रेखा द्वारा िी पररिाबित बकया जा सकता 

 हैं जो दो र्सु्तओां के सेट के बर्बिन्न सांयोगो ां को प्रकट करती है 

 जो एक उपिोक्ता अपनी दी हुई आय तर्ा र्सु्तओां की दी हुई 

 कीमत पर खरीद सकता है। इसे कीमत रेखा िी कहते है 

 क्योबक यह र्सु्त-x तर्ा र्सु्त-y के बीच कीमत अनुपात 

को प्रकट करती है। 

Consumer budget means the fixed income of the  

consumer.  In which can also be defined by the budget line 

  which reveal different combinations of sets of two objects 

  a consumer who is dependent on his given income and 

 given amount of goods an buy at price. It is also called 

 price line, because this reveals the price ratio between  

commodity x and commodity y. 

3 

13 अन्य बाते समान रहने पर बकसी र्सु्त की अपनी कीमत बढने  

पर उसकी माांग कम हो जाती है तर्ा अपनी कीमत कम होने  

पर उसकी माांग बढ जाती है। 

 

अर्र्ा 

 

अन्य बाते समान रहने पर बकसी र्सु्त की अपनी कीमत बढने 

 पर उसकी पुबतव बढ जाती है तर्ा कीमत कम होने पर पुबतव िी  

कम हो जाती है। 

The demand for a good when its price increases, other 

 things remaining the same. It decreases and its demand 

increases when its price decreases. 

 

Or 

 

Other things remaining the same, when the price of a 

commodity increases, its supply increases and when the  

price decreases, the supply also decreases. 

 

 

14 अर्सर लागत की र्ारर्ा लागत की आरु्बनक र्ारर्ा है।  

बकसी सार्न की अर्सर लागत से अबिप्राय दूसरे सर्वशे्रष्ठ 

 रै्कल्पिक प्रयोग में उसके मुल्य से है। अतएर् बकसी सार्न की 

अर्सर लागत र्ह लागत है बजसका उस सार्न को बकसी एक 

कायव में कायवरत होने के फलस्वरुप दुसरे रै्कल्पिक कायव को 

 नही कर पाने के कारर् त्याग करना पडता है। 

The concept of opportunity cost is the modern concept of  

cost. opportunity of any means Cost means its value in the 

second best alternative use. Therefore The opportunity cost of a 

resource is the cost of Being unable to do other alternative 

work as a result of being employed at work Reason has to 

 be sacrificed. 

4 

15 पुर्व प्रबतयोबगता बाजार की र्ह ल्पथर्बत है बजसमें बकसी समरुप  

र्सु्त के बहुत से केे् रता तर्ा बर्के्रता होते है। पुर्व प्रबतयोबगता की 

ल्पथर्बत में फमव केर्ल बाजार कीमत पर ही अपने उत्पादन का 

Perfect competition is a market situation in which there  

are many sellers of an identical product. 

There are buyers and sellers. In perfect competition the 
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 बर्क्रय कर सकती है। पुर्व प्रबतयोबगता की ल्पथर्बत में  

फमव की प्रते्यक इकाई की बर्क्रय कीमत समान होती है। 

पररर्ामस्वरुप उसका सीमाांत तर्ा औसत आगम बराबर  

होता है। 

 

 

 firm can only charge the market price. She can sell her 

 produce only. under perfect competition 

The selling price of each unit of the firm is the same. as  

a result of Marginal and average revenue are equal. 

16 कुल उत्पादनः एक बनबित समया में उत्पाबदत की गई र्सु्तओां 

 तर्ा सेर्ाओां की कुल मात्रा को कुल उत्पादन कहा जाता है।  

सीमाांत उत्पादनः पररर्तवनशील कारक की एक इकाई का 

 कम या अबर्क प्रयोग करने से कुल उत्पाद में जो अांतर आता है उसे 

सीमाांत उत्पाद कहा जाता है। 

 

 
 

 
 

अर्र्ा 

 

पुबतव की कीमत लोच बकसी र्सु्त की कीमत मांेे होने र्ाले  

पररर्तवन के फलस्वरुप उसकी पूबतव में होने र्ाले पररर्तवन का  

माप है। 

1) पुबतव की लोच >1: जब बकसी र्सु्त की पुबतव में प्रबतशत  

पररर्तवन कीमत में होने र्ाले प्रबतशत पररर्तवन से अबर्क होता है तो 

इस दशा में पुबतव की लोच इकाई से अबर्क होती है। 

2 ) पुबतव की लोच < 1:  जब बकसी र्सु्त की पुबतव में प्रबतशत  

पररर्तवन कीमत में होने र्ाले प्रबतशत पररर्तवन से कम होता है  

तो इस दशा में पुबतव की लोच इकाई से कम होती है। 

3) पुबतव की लोच = 1:  बकसी जब बकसी र्सु्त की पुबतव में 

 पररर्तवन उसी अनुपात में होता है बजस अनुपात में  

उसकी कीमत में पररर्तवन हुआ हैं तो उस र्सु्त की पूबतव को  

इकाई लोच कहते हैं। 

 

 
 

Total production: The total number of goods and services 

produced in a given period of time. 

The total quantity is called total production. 

Marginal production: Using more or less of a unit of a 

 variable factor. 

The difference in total product resulting from doing so is 

 called marginal product. 

 

 
 

 
 

Or 

 

Price elasticity of supply is the effect of a change in the 

 price of a good. It is the measure of the change in its 

 supply. 

1) Elasticity of supply > 1 : When the percentage change 

 in the supply of a good depends on the price. 

If it is more than the percentage change, then in this case 

 the elasticity of supply is greater than unit Is more. 

2) Elasticity of supply <1 : When the percentage change in 

the supply of a good increases in price is less than the 

percentage change occurring, then in this case the  

elasticity of supply is unit Is less than. 

3) Elasticity of supply =1:  When the change in supply of a  

good occurs in the same proportion as the change in its 

 price, then the supply of that good increases. 

is called unit elasticity. 
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17 

 

 
 

 
 

 

 

 
 

 

 

 
 

 

 

 
 

 

 

 
 

 

 

 
 

 

18  a) उपिोग a) consumption 1 

19 b) आयात  b) Export 1 

20 b) 2 b) 2 1 

21 a) ल्पथर्र कीमतें a) Fixed price 1 

22 c) 1935 c)1935 1 

23 मुद्रा के प्रर्ाह flow of money 1 

24 बनर्ल अप्रत्यक्ष कर net indirect tax 1 

25 आय income 1 

26 a) अबिकर्न(A) और कारर् (R) दोनो सही है और 

कारर् (R) अबिकर्न (A) की  

सही व्याख्या है। 

a) Both Assertion (A) and Reason (R) are correct 
 and Reason (R) is the correct explanation of Assertion (A) 

1 

27 a) अबिकर्न(A) और कारर् (R) दोनो सही है और 

कारर् (R) अबिकर्न (A) की  

सही व्याख्या है। 

a) Both Assertion (A) and Reason (R) are correct 
 and Reason (R) is the correct explanation of Assertion (A) 

1 

28 आय मे से उपिोग घटाने के बाद जो शेि बचता है उसे बचत 

 कहते है तर्ा जो बचत और आय के ाें सांबांर् को प्रकट करता 

 है उसे बचत का फलन है। 

 बचत आय पर बनिवर करती है क्योांबक आय के बढने पर बचत  

बढती है और कम होने पर कम होती है। बचत में रृ्ल्पि की दर 

समान्यतः आय में रृ्ल्पि की दर से अबर्क होती है। 

 

अर्र्ा 

 

असांतुलन उस ल्पथर्बत को कहते है बजसमें िुगतान शेि या तो 

 बचत र्ाला या घाटे र्ाला होता है। इसे ठीक करने के उपाय  

इस प्रकार हैः- आयातें को हतोत्साबहत करना। 

बनयावतो को प्रोत्साबहत करना। मुद्रा बर्स्फीबत।अर्मूल्यन। 

The balance that remains after deducting consumption from 
income is called saving. Saving function which reveals the 
relationship between savings and income. Saving depends 
on income, because when income increases, savings 
increase and when it decreases, it decreases. The rate of 
growth in savings is generally higher than the rate of 
growth in income. 
 

OR 
An imbalance is a situation in which the payment of balance 
is either a saving or a deficit is the one. The ways to fix it are 
as follows: Discourage imports, Encourage exports, 
Currency deflation, Depreciation. 
 

3 
 

 
 
 
 
 
 
 

 
 
3 

29 रािर ीय आय एर्ां बनजी आय में तीन अांतर इस प्रकार हैः- 

रािर ीय आय: इसमें ब्याज शाबमल बकया जाता है जबबक  

बनजी आय में रािर ीय ऋर्ोां पर ब्याज के िुगतान को शाबमल 

The three differences between national income and personal 
income are as follows:- 
National Income: Interest is included in it whereas 

1.5+ 
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करतें है। रािर ीय आय में केर्ल आय िुगतान शाबमल बकए  

जाते है जबबक बनजी आय में आय िुगतान तर्ा हस्ताांतरर्  

िुगतान दोनो ां शाबमल बकए जाते हे। 

Personal income includes interest payments on national  
debts. 
Let's do it. Only income payments are included in national 
 income. While personal income includes income payments 
 and transfers. Both payments are included. 

30 अबर् माांग र्ह ल्पथर्बत है बजसमें समग्र माांग अर्वव्यर्थर्ा में पूर्व 

रोजगार के बलए आर्श्यक समग्र पूबतव से अबर्क होती है।  

पूर्व रोजगार के अनुरुप  AD>AS 

 

 
 

अर्र्ा  

 

बजट घाटाः- बजट घाटे से अबिप्राय उस ल्पथर्बत से  

है बजसमें सरकार का बजट व्यय, सरकार की बजट प्राल्पियोां से 

अबर्क होता है। बजबटय घाटा र्ह ल्पथर्बत है बजसमें सरकारी 

 व्यय > सरकारी प्राल्पियाां । 

यह तीन प्रकार का होता है:-  

1. राजस्व घाटा 

2. राजकोिीय घाटा 

3. प्रार्बमक घाटा 

 

प्रार्बमक घाटे को पुरा करने के उपाय इस प्रकार  

है :- 

1.  सरकारी व्यय को कम करके 

2.  सरकारी प्राल्प्ोां में रृ्ल्पि करके 
 

Excess demand is a situation in which the aggregate demand 
 in the economy is more than the aggregate supply required 
 for employment. 
According to full employment  AD>AS 
 

 
 
OR 
Budget deficit:- Budget deficit means the situation in which 
In which the budget expenditure of the government is more than 
the budget receipts of the government. Budgetary deficit is a 
situation in which government expenditure > government 
receipts. 
It is of three types:- 
1. Revenue deficit 
2. Fiscal deficit 
3. Primary deficit 
 
Ways to overcome primary deficit are as follows 
Is :- 
1. By reducing government expenditure 
2. By increasing government receipts 
 

2+2 
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31 कर सरकार द्वारा रै्र्ाबनक रूपे् से ग्रहथर्ो ां तर्ा उत्पादकोां पर 

लगाया गया एक आर्श्यक िुगतान है जो मुख्यतः प्रत्यक्ष तर्ा 

अप्रत्यक्ष करोां में र्गीकृत बकया गया है। 

इसकी मुख्य बर्शेिताएां  इस प्रकार है:- 

1. कर एक अबनर्ायव िुगतान है बजसका िुगतान करदाता को 

अर्श्य करना पडता है। 

2. सरकार द्वारा कर से प्राि आय का प्रयोग सार्वजबनक बहत 

के कायो में बकया जाता है। 

3र्े् सरकार करदाता को कर के बदले में प्रत्यक्ष लाि प्रदान  

करने का कोई आश्वासन नही देती है। 

 

Taxes are legally imposed by the government on farmers and 
producers. 
Imposed is a necessary payment which is mainly direct and 
Classified as indirect taxes. 
Its main features are as follows 
1. Tax is a mandatory payment which has to be paid by the 
taxpayer. 
Of course it has to be done. 
2. Use of tax income by the government for public welfare 
Is done in the works of. 
3. The government provides direct benefits to the taxpayer 
 in lieu of taxes. Does not give any assurance of doing so. 

2+2 

32 उपिोग फलन र्ह अनुसूबच है जो आय के बर्बिन्न  

स्तरो पर उपिोग की मात्रा को बताती है। उपिोग  

से अबिप्राय बकसी अर्वव्यर्थर्ा में एक बनबित समय 

 में उपिोग पर बकए जाने र्ाले समग्र व्यय से है जो अपनी 

आर्श्यकताओां को प्रत्यक्ष रूप से सनु्ति  

करने के बलए लोगो द्वारा र्सु्तओां तर्ा सेर्ाओां के 

को खरीदने पर खचव की जाने र्ाली मुद्रा की मात्रा  

को उपिोग व्यय कहा जाता है। 

 C=f (Y) 

 

 
 
 

 

Consumption function is a schedule that shows different  
types of income. 
Tells the quantity of consumption at levels. consumption 
means a certain period of time in an economy 
  It is the total expenditure on consumption which directly 
satisfies one's needs. 
goods and services by people to 
the amount of money spent on purchasing 
is called consumption expenditure. 
  C=f(Y) 
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33 समग्र माांग रू. समग्र माांग से अबिप्राय अर्वव्यर्थर्ा में र्सु्तओ 

तर्ा सेर्ाआांेे की समग्र माांग से है। इसे र्सु्तओां तर्ा सेर्ाओां  

पर बकए जाने र्ाले समग्र व्यय के रूपे् में मापा जाता है। 

इसके मुख्य रूप से दो घटक होते है:- 

1.उपिोग व्यय  

2. बनरे्श व्यय 

अतः समग्र माांग = उपिोग व्यय + बनरे्श व्यय 

 

 
 

समग्र पुबतव से अबिप्राय बकसी बनबित समय में बकसी  

अर्वव्यर्थर्ा द्वारा एक र्िव की अर्बर् में उत्पाबदत समग्र  

अल्पन्तम र्सु्तओां तर्ा सेर्ाओां के मौबद्रक मुल्य से है बजसे  

रािर ीय आय या रािर ीय उत्पाद िी कहा जाता हे। यह उत्पादन 

की समग्र लागत है जो उत्पादन के बर्बिन्न सार्नोां को  

मजदुदी लगान ब्याज तर्ा लाि के रूप में दी जाती है। 

रािर ीय आय लेखाांकन के ज्ञान के आर्ार पर यहा कहा जा 

सकता है बक समग्र पूबतव की र्ारर्ा मूल्य रृ्ल्पि की र्ारर्ा 

के समान है। 

समग्र पूबतव =उपिोग +बचत 

 

 
 

 

अर्र्ा  

 

ऐल्पिक बेरोजागाी एर्ां अनैल्पिक बेरोजगारी 

 

ऐल्पिक बेरोजगारी ऐल्पिक बेरोजगारी से अबिप्राय उस ल्पथर्बत 

 से है बजसमें एक श्रबमक रोजगार उपलब्ध होने पर िी, मजदुरी 

 की र्तवमान दर काम करने के बलए तैयार नही होता है। 

उदाहरर् के बलए, एक डा  ेक्टर का बाजार में प्रचबलत रे्तन 

10 हजार रूपये प्रबतमाह है परां तु र्ह इस रे्तन पर काम करने 

बलए तैयार नही है, इसे ऐल्पिक बेरोजगारी कहा जाएगा। इस 

बेरोजगारी को समग्र अनुमान में शाबमल नही बकया जाता ।  

बकसी देश मांेे ऐल्पिक बेरोजगारी के होते हुए िी पूर्व रोजगार  

हो सकता है। 

 

अनैल्पिक बेरोजगारी अनैल्पिक बेरोजगारी यह बेरोजगारी की 

र्ह ल्पथर्बत है बजसमें रोजगार के अर्सर के अिार् मे बेरोजगार 

रहना पडता है, यद्यबप रे् मजदुरी की र्तवमान दर पर काम करने को 

तैयार होते है। 

अर्वव्यर्थर्ा में बेरोजगारी के समग्र अनुमान में अनैल्पिक 

बेरोजगारी को शाबमल बकया जाता । 

 

 

The overall demand is Rs. Aggregate demand refers to the 
demand for goods in the economy. 
And from the overall demand for services. goods and services 
It is measured as the overall expenditure. 
It mainly has two components: 
1. Consumption expenditure 
2. Investment expenditure 
Hence, Aggregate Demand, Consumption Expenditure,  
Investment Expenditure 
AD= C+I 
 

 
 
Overall supply means any 
aggregate produced by the economy over a period of one  
year The monetary value of final goods and services which 
Also called national income or national product. This 
 production is the overall cost of various means of production 
Labor rent is given in the form of interest and profit. 
Based on the knowledge of national income accounting it can be 
said here. The assumption of aggregate supply may be the 
assumption of price rise. 
Is similar to aggregate supply = consumption + savings 
 

 
 
 
 
Voluntary unemployment and involuntary unemployment 
 
Voluntary Unemployment Voluntary unemployment refers 
to a situation in which a worker, even when employment is 
available, is still employed at the current rate of wages. 
Is not ready to work. 
For example, the prevailing market salary of a doctor 
10 thousand rupees per month but he does not want to 
work at this salary. 
If the person is not ready for employment, it will be called 
voluntary unemployment. This 
Unemployment is not included in the overall estimate. Any  
There should be full employment despite voluntary 
unemployment in the country. 
Could. 
 
Involuntary Unemployment: Involuntary Unemployment: 
This is a situation of unemployment in which 
Due to lack of employment opportunities one has to remain 
unemployed. 
Although they are willing to work at the current rate of 
wages 
Happens. 
Involuntary in the overall estimate of unemployment in the 
economy 
Unemployment would have been included. 
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full employment and underemployment balance 
 
Full Employment:- Full employment expresses the situation  
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पूर्व रोजगार:- पूर्व रोजगार उस ल्पथर्बत को व्यक्त करता है  

बजसमें समग्र माांग, समग्र पूबतव के बराबर हो और रे् सिी जो 

काम करने के योग्य तर्ा काम करने के इक्ष्छुक है, र्तवमान  

मजदुरी की दर परि काम प्राि कर लेते है। 

पूर्व रोजगार सांतुलन एक ल्पथर्र सांतुलन है जहा र्ास्तबर्क 

उत्पादन अबर्कतम बबांदु पर पहुांच जाता है। 

पूर्व रोजगार सांतुलन से आगे बढने की अर्थर्ा में कीमत 

स्तर में रृ्ल्पि होती है। 

 

अि रोजगार सांतुलन:- अि रोजगार सांतुलन र्ह ल्पथर्बत हे  

बजसमें समग्र माांग समग्र पूबतव के बराबर तो होती है लेबकन रे् सी 

सिी जो काम करने के योग्य एर्ां 

इिुक है र्तवमान मजदुरी दर पर काम प्राि नही कर पाते है 

अि रोजगार सांतुलन एक ल्पथर्र सांतुलन नही है और यहाां 

र्ास्तबर्क उत्पादन उच्चतम बबांदु पर नही पहुांच पाता। 

अि रोजगार सांतुलन से आगे बढने पर कीमत स्तर में िी 

रृ्ल्पि नही होती है। 

 

अर्र्ा 

 

मुद्रा की पूबतव एक स्टा  े क र्ारर्ा है। इससे अबिप्राय बकसी 

एक समय बबांदु पर देश में लोगो ां के पास कुल मुद्रा 

;सिी प्रकार कीि के स्टा  े क से है। 

िारत में मुद्रा पूबतव के चार रै्कल्पिक माप है,  

जैसे M1 , M2 , M3 और  M4 

 

M1 =  जनता के पास करेंसी + माांग जमाएां  + 

ररजर्व बैंक के पास अन्य जमाएां  । 

M2 =  M1 + डाकखानोां के बचत बैंक खातोां में  

जमाएां । 

 

M3 =  M1 + व्यापाररक बैंको की बनर्ल  

सार्बर् जमाएां । 

 

M4 =  M3 + डाकखानोां की कुल जमाएां  को  

( NSS को छोडकर ) । 

that in which aggregate demand is equal to aggregate suppl  
 and all those 
Able to work and willing to work, present 
Get work at wage rate. 
Full employment equilibrium is a stable equilibrium where 
 real Production reaches its maximum point. 
Price moving from full employment equilibrium 
Level increases. 
 
Underemployment Equilibrium:- Underemployment  
Equilibrium is the situation In which aggregate demand is 
equal to aggregate supply but they all who are capable of 
 working and Are interested but are unable to get work at the 
current wage rate Underemployment equilibrium is not a  
stable equilibrium and here Actual production does not 
 reach its highest point. As the price level moves beyond 
underemployment equilibrium, 
There is no growth. 
 full employment and underemployment balance 
Full Employment:- Full employment expresses the situation 
 that in which aggregate demand is equal to aggregate supply and 
all those Able to work and willing to work, present 
Get work at wage rate. 
Full employment equilibrium is a stable equilibrium where  
real Production reaches its maximum point. 
Price moving from full employment equilibrium 
Level increases. 
 
Or 
 
Money supply is a stock assumption. This means someone 
The total currency held by people in a country at a point in 
 time (All types) are from stock. 
There are four alternative measures of money  
supply in India, such as M1, M2, and 
M3 and M4 

 
M1 = currency  with the public + Demand deposit  
+ Other deposits with the Reserve Bank of India. 
  
M2 =  M1+ Deposit in the savings bank accounts of post 
 offices. 
 
M3 = M1 +  Net fixed deposits of commercial banks. 
M4 =  M3 + Total deposits of post offices 
(Except NSS ). 
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